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	I can use relative frequency to compare outcomes of experiments
	
	

	
	I can complete a tree diagram
	
	

	
	I can use tree diagrams to find probabilities of successive independent events
	
	

	
	I understand dependent and independent outcomes
	
	

	
	I can use tree diagrams to find probabilities of successive dependent events
	
	

	I need to practise …. 



Grade C: 1 to 3 marks
Grade B: 4 to 7 marks

Grade A: 8 to 16 marks

Grade A*: 17 to 21 marks


Name:


PROBABILITY: Grade A


Key descriptor: Understand dependent and independent outcomes; Understand probabilities associated with mutually exclusive events





Score: __________/21		Grade:______
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4.	A spinner is designed such that the probability it lands on an even number is three times the probability it lands on an odd number.


	Helen spins the spinner three times.  What is the probability that she obtains three even numbers?
































______





A bag contains 4 red counters, 2 blue counters and 3 yellow counters.  John picks out a counter at random, and then – without replacing it – picks out another.  What is the probability that John chooses two counters of the same colour?
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Fair dice		Biased dice








Overall, for this homework I think my success level is: 
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Overall, for this homework I think my success level is: 
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Not 6





1.	Joe rolls a dice 400 times and obtains 150 sixes. 


a)	Is the dice fair?  Give a reason for your answer.





______ because __________________________________________________





________________________________________________________________





b)	If Joe were to roll the dice 925 times how many sixes would he expect to obtain?





_______________





2.	A dice is biased such that the probability of getting a six is 3/8.  Tina rolls this dice with a fair dice.


a)	Complete the tree diagram to show the different outcomes.  Label the branches of the diagram with their probabilities.


� EMBED Equation.3  ���












































b)	What is the probability that Tina obtains:


i)	no sixes;





______


ii)	two sixes;





______





iii)	at least one six?





______





3.	Nick passes through two sets of traffic lights on his way to work.  


The probability that the first set of traffic lights will be on red is 0.3


The probability that the second set of traffic lights will be red is 0.25


The probability that both sets of traffic lights are red is 0.16


	Are the two events ‘first set of lights red’ and ‘second set of lights red’ independent?  Justify your answer.





______ because __________________________________________________





________________________________________________________________





________________________________________________________________
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